Integral - 4.1 - Antidifferentiation and Indefinite Integrals November 09, 2015
Homework for Test #1

e 39#5,9;11-19 odd; 45, 49

4.1 #5-33 odd; 55-61 odd; 67, 83

4.2 #7-190dd; 27-370dd; 41,43,47,53
4.3 #7,17,37,43,45

4.4 #13, 15, 23, 31
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3.9 #50 we Know tan(e)=0O
Use differentials to approximate tan(0.05). O O 5 - + A
fc+Ax) = f(c) + ["(x)dx © 4
f(x)z-tan)& ; c= O ; Ax = dx = OOS

fW=sectx  ton(»=D
tan (o+o,05> % 0 +—5e(,7'(9> 0.0

JmnO.O% %!0.051

Why does the differential give us a good approximation for the actual change in y?
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Gereral soluhon - XS +C

Find a general solution and a particular solution to the differential equation.
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40 .jsecﬂ (any-se \tD da/
= .S(s“\‘j{"m:j - seci‘j )Oi‘j

= G@Lj —tan\Lj + C
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b2. £'()=six | £f@=1 FO)(

‘9(79 = —-cosx + C, \‘—*Cos(ﬂ t+ C)
2.=¢C,
F(x) =-sinx+ o +Co
T""_Ha”\w Solution : (Q = «b?n@ 1—9,(0)4—‘-2
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I £t / 2
a(t) = -32 S
V() =-32t +V,

SE=-16t +Vb +s,

T2 . 0O m o =-13 "‘/S"
mL't>=—q8 ,’O (roc,k 'S
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30, o (+) = cost N 'IZ >0
®t=0 , posifianis ><:2>
@) find \docily % position uachans

) fnd Value(s) of € Foc which fne particle

is af rest.
O=snlr) +C,
V&)= Sint + Q) ?7 ¢

SGt)=-cost, +4—~ 5= —0056(@ Yz
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